
RELAÇÃO DO AÇO

P1-L2 P1-L1 P2-L2

P2-L1 P3-L2 P3-L1

P4-L2 P4-L1 P5-L2

P5-L1

AÇO
N DIAM

QUANT
C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 280 24 6720

2 5.0 158 97 15326

3 5.0 84 64 5376

CA50 4 10.0 42 337 14154

5 10.0 36 172 6192

6 10.0 6 130 780

7 10.0 6 75 450

RESUMO DO AÇO

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10%

(kg)

CA50 10.0 215.8 146.3

CA60 5.0 274.2 46.5

PESO TOTAL

(kg)

CA50 146.3

CA60 46.5

Volume de concreto (C-25) = 1.26 m³

Área de forma = 25.30 m²
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RELAÇÃO DO AÇO

P6-L2 P6-L1 P7-L2

P7-L1 P8-L2 P8-L1

P9-L2 P9-L1 P10-L2

P10-L1

AÇO
N DIAM

QUANT
C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 200 24 4800

2 5.0 160 97 15520

3 5.0 80 64 5120

CA50 4 10.0 30 337 10110

5 10.0 30 172 5160

RESUMO DO AÇO

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10%

(kg)

CA50 10.0 152.7 103.6

CA60 5.0 254.4 43.1

PESO TOTAL

(kg)

CA50 103.6

CA60 43.1

Volume de concreto (C-25) = 1.26 m³

Área de forma = 25.30 m²
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RELAÇÃO DO AÇO

P11-L2 P11-L1 P12-L2

P12-L1 P13-L2 P13-L1

P14-L2 P14-L1 P15-L2

P15-L1

AÇO N DIAM
QUANT

C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 200 24 4800

2 5.0 160 97 15520

3 5.0 80 64 5120

CA50 4 10.0 30 337 10110

5 10.0 30 172 5160

RESUMO DO AÇO

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10%

(kg)

CA50 10.0 152.7 103.6

CA60 5.0 254.4 43.1

PESO TOTAL

(kg)

CA50 103.6

CA60 43.1

Volume de concreto (C-25) = 1.26 m³

Área de forma = 25.30 m²
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